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B1:28"837+3"6.77+ 275" 837 =66.76m?

B2:1475*615+9 56+3325°8.55 =7935m?

B3 357615+27427+315% 265+ 23757145+ 785 6715 =04 57 m?
C1:133753+1857675+265"115+7.44*06 =9216m®
C2:271.725+4.97*375+2325°245+3.7675.3+7.15*5.725 =88.75 7

D1 2005*283+24571675+3225%3 1245725 T 11+285°427+305" 2725+ 28257472 =
96.93 m?
D2:0537165+04*2+53572+14571.73+1 421 +871*842 =10153m?
BET ; 85292 197

AT

ABME:1275% L35+ 14675 % 1425+ 1.3 % 1354 0355 1.5 =40l o
Al 423%13+3775%1 =93Tm?
A2-379571+ 105726 =887 m?
A3:167573 =503m?

B1:37 1675 =5.03m?

B2:135°3+35571 =760 m?

B3:4.27 1675 =715m2

CHoT AT 16+ 3681675+ 17337 =113 m*
C2 18*207+1°335 =a70nm?
D1:1%3425+ 18753225 =883m?
D2:1.2%312+1525° 255 =763 m?

Dffi: 175+ 135 =236 m*

$oEE ;10679 1P

el

AP A= 3043T76% 26 =2l m"
B 26%5.) = (326m®
CH:225%5.0L = 1L.S0"
Ol 5.6 %250 = 14060

5t 6046 m*

A Imisng

AR 065 % 105 =0.68m®
BRI 082 % 135 = 1030
1Tl m?

PRl

AR 342 %5075 = 17,367

Bl : 342 %5045 = 17250

CP:LE*LASH365%a5T+ 085 % LUIL+ 1882 457+ 313 =072+ (012 % Q12) /24 £0722072)/2 = 3277 "
O 4075 %280+ 0405 % LIT5+ 45T # 27+ 050 % 105 + 035 %07 =256l m®

HEET 9799 m?

Wik

45 %2394 04 % 145 = [| M40

D 1 4,085 #2454 LIS * 1425 = 1165 o
B 2299 m?

B e
AMAT*28 <675 uP
O 2454255 =625 m®
D 245425 =613m?
B 1903 m?

WA

AM235%2 15 =505m®

B2l %24 =52 ®

E¥EF 1026 m?

IR

AME0S5* 165 +055% 155 = Laan?

Dl 245 1,535 = 376 P
Rt 58w
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